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’ 100kN/m%#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/ Mm% % % — -~ — —|3m%EEZD -~ — — —
ZzhnLst 1.00| 0.00 ~ 464 5788 | #nList | 000 ~ 464 | 1.86 9.38 zhnLst 1.00| 500 ~ 5.00 5788 | #nList | 5.00 ~ 500 | 1.86 9.38
9 100kN/m%#8 x5 1.00| 0.00 ~ 0.34 105.06 |3m%E{EZ S -~ — — —| 100kN/m%#8%%| 1.00 (1091 ~ 11.84 105.06 |3m%E{EZ S -~ — - -
zhnLst 1.00| 034 ~ 813 100.00 | #hist | 000 ~ 8.13 | 233 11.78 zhnLst 1.00 | 5.00 ~ 10.91 100.00 | #hist | 500 ~ 11.84 | 2.33 11.78
3 100kN/m%#8 x5 1.00 | 0.00 ~ 0.20 102.90 |3m%EF{EZ S -~ — — —| 100kN/m%#8%%| 1.00 [11.93 ~ 12.51 102.90 |3m%EF}EZ S -~ — - -
zhnLst 1.00| 020 ~ 7.98 100.00 | Zhist | 000 ~ 7.98 | 247 12.48 zhnLst 1.00| 500 ~ 11.93 100.00 | Zhust | 500 ~ 1251 | 247 12.48
4 100kN/m#E#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/ Mm% % % — -~ — —|3m%EEZD -~ — — —
zhnLst 1.00| 0.00 ~ 7.27 9252 | N4t | 000 ~ 7.27 | 267 13.50 ZzhnLst 1.00 | 5.00 ~ 1291 9252 | #nist | 5.00 ~ 1291 | 2.67 13.50
5 100kN/m#&#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/ Mm% % % — -~ — —|3m%EEZD -~ — — —
ZzhnLst 1.00| 0.00 ~ 7.28 9280 | #nlist | 000 ~ 0.00 | 1.71 8.65 ZzhnLst 1.00| 500 ~ 940 9280 | #nList | 5.00 ~ 940 1.71 8.65
6 100kN/m#&#BZ % — -~ — —|3m%EEZD -~ — — —| 100kN/ Mm% % % — -~ — —|3m%EEZD -~ — — —
ZzhnLst 1.00 | 0.00 ~ 444 5539 | EnList | 000 ~ 444 | 194 9.82 ZzhnLst 1.00| 500 ~ 5.00 55.39 | #nlist | 5.00 ~ 500 1.94 9.82
100kN/m#&E#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m#&E#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLs ~ FhLs ~
100kN/m%#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLs ~ FhLs ~
100kN/m%#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLs ~ FhLs ~
100kN/m%#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLsh ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m%#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m#&E#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLs ~ FhLs ~
100kN/m#&#BZ % ~ IMEHEZD ~ 100kN/m#%#8 x5 ~ IMEHEZD ~
ZhLs ~ FhLs ~ ZhLsh ~ FhLs ~
100kN/m#E#BZ % ~ IMEHEZD ~ 100kN/m%#8 x5 ~ IMEHEZD ~
Zh s ~ Fh s ~ ZhLs ~ FhnLs ~
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